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Solve each system by substitution.
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Find the midpoint of the line segment with the given endpoints.
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Find the distance between each pair of points.
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Find the slope of the line through each palr of pomts
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Find the slope of a line perpendicular to each given line.
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Werite the slope-intercept form of the equation of the line through the given points.
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Write the slope-intercept form of the equation of the line described.
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14) Given the equation x* + y* = 60 Is the point (;;1,7) inside, on, or outside the circle?
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15) The point (8,12) lies on a circle centred around the origin. What is the equation to the circle?
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16) Given triangle ABC with A(-1,4), B(-1,-2), C(5,1),show that the midsegment from AC to BC is parallel to
the line segment AB

{ 17) Given triangle XYZ with X (-1, 6), Y(-4, 0) and Z(3, 2), draw median from vertex X. Calculate the slope of
i the median.

N —f} S i \ I ™ ; T -~ 0. ol ‘:
\;} M = ( —_— G od.S - ° g ’Mﬁ £ Tae
Ac. > T ) Slope 2 2.2 o | o
s 4 / N {
H, = [FF 20 (2 05) |
/ - - 4 [ A
!CC/ A ; g s SR P af",“i‘?‘ffﬁf{"
slope o7 AB Wy ™ ST T T

*ﬁ(‘( m{ﬁif(}—?’w@n?
aré Al are

{ﬁmffa .







Math 1OD, Name

Unit 2 Review Week - Coordinate Geometry

al) Some words to keep in mind:

Parallel - median -

Perpendicular - bisector -

Midsegment - circle -
Scalene, isosceles and equilateral -
Rectangle, parallelogram, square and rhombus -
Find the midpoint of the line segment with the given endpoints.
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Given the midpoint and one endpoint of a line segment, find the other endpoint.
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Find the distance between each pair of points.
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10) Given the point
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